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WEST BENGAL STATE UNIVERSITY

B.Sc. Honours/Programme 2nd Semester FExamination, 2019

ZOOHGECO02T/Z00GCOR02T-Z0OOLOGY (GE2/DSC2)

Time Allotted: 2 Hours Full Marks: 40

The figures in the margin indicate full marks. efas A w5 51047110 7‘?3777/ feret 7

Candidates should answer in their own words FJrIdiar fcea O 7% TG TG Wy
and adhere to the word limit as practicable. Ges 1

1. Answer any eight questions from the following: 2x8 =16

frfeife - Wbt etvsa B wies

(a) What is Action Potential?
fenfrsa @y

(b) Which part of the heart is called ‘Pacemaker’ and why? 1+1
TR @I RAF PR’ 0T €, (@ 9

(c) What is ‘Juxta-Glomerular’ Apparatus?
“GIIOI- TR T R 9

(d) Distinguish between compound lipid and derived lipid.
QA fefore ¢ a1 e st =efe @)

(e) What do you mean by ‘residual volume’ of lung?
ARG SR ST’ T670 F Q@I 2

(f) What is ‘Rh’ factor?
‘Rh’ factor 1 2

(g) From which cell HCI is secreted in human stomach?
TR “AFZA (I (1A RF HCl Flo 21 9

(h) What do you mean by ‘gluconeogenesis’?
‘sl erETaiT 390 & @GN 9

(1) What is the function of relaxin?
feefem-9a 31w @

() What do you mean by proteolytic enzyme? Give two examples. 1+1
@fbenizls Terme A ¢ 1 Swizad we |
(k) What is sarcomere? Name different contractile protein present in it. 1+1
e A o A 1 Reebwe e wm et
(1) Name two hormones regulating menstrual cycle. 1+
55 formrgererd wfb zacaica 7w @
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Answer any rthree questions from the following:
fsfefRe -t Rafb aria Sea wie:

(a) Describe the structure of a neuron in brief with simple diagram.
e oz b M8t (W) 15w st 3w

(b) Explain the steps of Glycolysis with a flow chart.
@3 @fdTea MR ARriERieE et e wm)

(¢) Classity protein with examples.
Tz e e @R s

(d) State the significance of ‘counter-current’ mechanism of kidneys.
T FITOR-INIAD’ Aw Sieor i I

(¢) Write the hormonal control of spermatogenesis.

SARACOIETAT 213 2RI e 981 7908 Fe et el

Answer any three questions from the following:
frefERe Q- a3 e Teg wes

(a) Differentiate between reducing and non-reducing sugar. How lipid is absorbed in
alimentary canal?

SR o Rererdt =wsarm =i @ fafre i cftete e =
(b) What is ‘SA Node’? Draw and label T.S. of mammalian heart.

*SA Node’ 31 ? T3-ZefPie7 ¢ ergrrera 73 57 s w3 s 3t
(c) Draw and label the histological structure of mammalian pancreas gland.

BN S efem TR o15w e e e )

(d) What do you mean by blood coagulation? Describe in brief the steps involved in
blood coagulation.

TE-T%A I N @A 2 TG-St RfSw atvpafr swrmest 2t w1,
(¢) Enumerate the mechanism of urine formation in human with suitable diagram.
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